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k|Zgsf k|sf/x¿ 

k|Zgsf k|sf/x¿ ;f]lwg] k|Zg ;ª\Vof cª\sef/ 

clt 5f]6f] pQ/ cfpg] k|Zg !! !! 

5f]6f] pQ/ cfpg] k|Zg * $) 

Nffdf] pQ/ cfpg] k|Zg # @$ 

hDdf @@ &% 

b|i6Jo M 

 clt 5f]6f] pQ/ cfpg] k|Zgx¿ ! cª\ssf x'g] 5g\ / o:tf k|Zg !! cf]6f x'g] 5g\ . 

 5f]6f] pQ/ cfpg] k|Zgx¿ % cª\ssf x'g] 5g\ / o:tf k|Zg * cf]6f x'g] 5g\, ;fy} PsfO # / ^ af6 yk Ps Pscf]6f j}slNks k|Zgx¿ ;f]lwg] 5 

. 

 nfdf] pQ/ cfpg] k|Zgx¿ * cª\ssf x'g] 5g\ / o:tf k|Zg # cf]6f /xg] 5g\ ;fy} PsfO !) af6 yk Pp6f j}slNks k|Zg ;f]lwg] 5 . 

 ;s];Dd x/]s PsfOaf6 w]/} ljifoj:t'x¿ ;d]6\g] ul/ k|Zgkq lgdf{0f ug'{kg]{ 5 . 

 1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfg';f/ k|Zg /xg] 5g\ . 

 ;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . 

pRr bIftfcGtu{t ljZn]if0f, d"Nofª\sg /  l;h{gfTds txsf k|Zg /xg] 5g\ . 

cfGtl/s d"Nofª\sg -@% k|ltzt_ sf cfwf/ 

j|m=;= d"Nofª\sgsf cfwf/ cª\sef/ 

!=  ;xeflutf -pkl:ylt / l;sfO lj|mofsnfkdf ;xeflutf tyf ;lj|motf_  

[Participation] 
# 

@= q}dfl;s k/LIff (Trimester) ^ 

# k|of]ufTds tyf kl/of]hgf sfo{ (Practical and Project Work) !@ 

$= kl/of]hgf sfo{sf] Dff}lvs cGtjf{tf (Viva) $ 
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gd'gf k|Zgkq, @)*) 

ljifoM cy{zf:q 

sIff M !) 

k"0ff{ª\sM &%                                                                               ;do M # 306f                                                      

lbOPsf lgb]{zgsf cfwf/df df}lns z}nLdf l;h{gfTds pQ/ lbg'xf];\ . bfofF lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\snfO{ 

hgfpF5 . 
                                                    ;d"x 's'  (Group 'A') 
                                       tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ .                            11x1 =11 

                                                      (Write very short answer to the following questions.) 

1. cNksfnLg pTkfbg k|lj|mofdf k|of]u ePsf l:y/ ;fwgx¿df ul/Psf] vr{sf] hf]8nfO{ s] elgG5 < (What is the addition of 

expenditure incurred on fixed factors used in the short-run production process?) 

2. s'g} j:t'sf] t];|f] / rf}yf] PsfO ljqmL ubf{ s'n cfo qmdzM ?= 18 / ?=24 k|fKt x'G5 eg] rf}yf] +PsfOsf] laj|mLaf6 k|fKt ;LdfGt 

cfo kQf nufpg'xf];\ . (If the total revenue is Rs.18 and Rs.24, respectively when selling the 3rd and 4th unit of a 

commodity, find the marginal revenue from the sale of the 4th unit.) 
3. Psflwsf/sf] ahf/sf b'O{ ljz]iftf pNn]v ug'{xf];\ . (Mention two characteristics of a monopoly market.) 

4. d"No:Tf/ j[l4 x'Fbf jf:tljs Hofnfdf s:tf] c;/ k5{ < (What is the effect on real wages when price level increases ?) 

5. j:t' ljlgdo k|0ffnLsf s'g} b'O{ s7LgfO n]Vg'xf];\ . (Write any two difficulties of barter system.) 

6. s:tf] lsl;dsf] d'b|fnfO{ ckl/jt{gLo kq d'b|f elgG5 <(What type of money is called inconvertible paper money?) 

7. k|ToIf s/sf s'g} b'O{ pbfx/0f  n]Vg'xf];\ . (Write any two examples of direct tax.) 

8. Oltxf;sf] ef}ltsjfbL JofVof cfly{s ljsf;sf]  s'g  l;4fGt;Fu ;DalGwt 5 < (With which theory of economic development  

the materialist interpretation of history  is associated ?) 

9. cGt/f{li6«o Jofkf/sf] t'ngfTds nfutsf] l;4fGt s;n] k|ltkfbg u/]sf x'g\ < (Who propounded the Comparative Cost Theory of 

International Trade?) 
10.s'g} Pp6f b]zn] ljZjsf afFsL b]zx¿;Fu s'g} lglZrt ;dofjlwdf ug]{ b[io j:t'x¿sf] cfofteGbf lgof{t a9L ePsf] cj:yfnfO{ 

s] elgG5 < (What is the situation in which a country's exports of visible goods exceed its imports with the rest of the 

world in a certain period?) 

11.  tYofª\s ;ª\sng ug]{ b'O{ ljlwx¿ pNn]v ug'{xf];\ . (Mention two methods of collecting data.) 

                                                 ;d"x 'v'  (Group 'B') 

                                       tnsf k|Zgx¿sf]  5f]6f] pQ/ lbg'xf];\ .                                               8x5 =40 

                                                      (Write short answer to the following questions.) 

12.  lbOPsf] tflnsfsf] vfnL 7fpFdf pko'St dfgx¿ eg'{xf];\ / ltgsf cfwf/df cf};t cfo / ;LdfGt cfo jj|m/]vf Pp6} /]vflrqdf 

/rgf ug'{xf];\ . (Fill the appropriate value in the blank spaces of the given table then construct AR and MR curves in a 

single diagram.)                                                                                                                   [2+3] 

PsfO(Q) s'n cfo (TR) cf};t cfo (AR) ;LdfGt cfo (MR) 

1  6  

2 10   

3   2 

4  3  

5   –2 
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13. tflnsfnfO{ ljrf/ ug'{xf];\ / tn lbOPsf k|Zgx¿ ;dfwfg ug'{xf];\ . (Consider the table and answer the following 

questions): 

j:t'sf] ahf/ d"No  

-?÷s]=hL=_ [Market Price of 

the Commodity (Rs. /Kg.)] 

j:t'sf] ahf/ dfu  

kl/df0f -s]=hL=df_ [Market 

Demand of the 

Commodity (in Kg.)] 

j:t'sf] ahf/ k"lt{ kl/df0f  

-s]=hL=df_ [Market Supply of 

the Commodity (in Kg.)] 

1 10 2 

2 8 4 

3 6 6 

4 4 8 

5 2 10 

a. lbOPsf] tflnsfsf cfwf/df j:t'sf] ahf/ dfu / k'lt{ jj|m/]vfx¿ Pp6} /]vflrqdf lvRg'xf];\ . (Draw the market demand and 

supply curves for the commodity on a single diagram, based on the given table.) 

b.  /]vflrqsf cfwf/df j:t'sf] ahf/ d"No / dfu kl/df0fsf ;fy;fy} ahf/ d"No / k"lt{ kl/df0flarsf] ;DaGw klxrfg ug'{xf];\ .  

(Identify the relationships between market price and quantity demanded, as well as market price and quantity supplied, 

based on the diagram.) 

c. /]vflrqsf cfwf/df k"0f{ k|lt:kwf{sf] ahf/df j:t'sf] ahf/ dfu / ahf/ k"lt{larsf] cGt/lj|mof ljZn]if0f u/L ;Gt'lnt d"No / 

pTkfbg kl/df0f kQf nufpg'xf];\ . (Based on the diagram, analyze the interaction between the market demand and market 

supply of the commodity in a perfectly competitive market, and determine the equilibrium price and quantity.)[2+1+2]                                                                                             

14. Hofnfsf] hLjg lgjf{x l;4fGt o;sf d'Vo ljrf/x¿dfly k|sfz kfb}{ JofVof ug'{xf];\ . (Explain the Subsistence Theory of 

Wages highlighting its main ideas.) 

                                                cyjf (OR), 

gfkmfsf] clglZrttf jxg l;4fGtsf cfwf/df gfkmf l;h{gfdf clglZrttfsf] e"ldsf JofVof ug'{xf];\ . (Explain the role of 

uncertainty in the profit generation based on the Uncertainty-Bearing Theory of Profit.) 

15.cfly{s ljsf;sf s'g} kfFrcf]6f ;"rsx¿sf] ;"rL agfO{ JofVof ug'{xf];\ . (List and explain any five indicators of economic 

development.) 

                                                cyjf (OR), 

      g]kfnsf] cy{Joj:yfsf s'g} kfFrcf]6f ljz]iftfx¿sf] ;"rL agfO{ JofVof ug'{xf];\ . (List and explain any five characteristics of 

Nepal's economy.) 

16. ljZj Jofkf/ ;ª\u7g  g]kfnsf] cfly{s ljsf;sf nflu s;/L nfebfoL x'g;S5 :ki6 kfg'{xf];\ . (Clarify how the World Trade 

Organization (WTO) can be beneficial for the economic development of Nepal.) 

17. cfly{s of]hgfsf d'Vo cª\ux¿sf] JofVof ug'{xf];\ . (Explain the main components of an economic plan.) 

18. tYofª\s juL{s/0fsf nflu k|of]u ul/g] ljleGg ljlwx¿sf] rrf{ ub}{ x/]s ljlwsf] Jofjxfl/s k|of]usf cj:yf dfly k|sfz kfg'{'xf];\ . 

(Describe various methods used for classifying data, highlighting the situation of practical applications of each 

method.) 

19. lbOPsf] tYofª\snfO{ j[Qv08 lrqdf b]vfpg'xf];\ . (Show the given data in a pie-diagram) 
 

vr{ zLif{s  
(Expenditure Heads) 

Hofnf 

(Wages) 

l;d]G6 

(Cement) 

sf7 

(Timber ) 

kmnfd 

(Iron) 

afn'jf 

(Sand) 

ljljw 

(Miscellaneous ) 

Vfr{ -?=df_  
[Expenditure (in Rs )] 

1200 1600 600 800 400 200 
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  ;d"x 'u'  (Group 'C') 

                                       tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ .                              3x8 =24 

                                                      (Write long answer to the following questions.) 

20.  jfl0fHo a}ª\sx¿n] g]kfnsf] cflY{fs ljsf;df s;/L of]ubfg k'¥ofpg ;S5g\ JofVof ug{'xf];\ . (Explain how the commercial banks 

can contribute to the economic development of Nepal.) 

21.   g]kfn ;/sf/sf cfosf ;|f]tx¿sf] n]vfhf]vf ug'{xf];\ .  (Evaluate the sources of government revenue of Nepal.) 

22.  Pp6f ljBfnodf sIff 10 df cWoog ug]{ ljBfyL{sf] cy{zf:q ljifosf] 75 k"0ff{ª\ssf] k/LIffdf k|fKt u/]sf] k|fKtfª\saf6 klxnf] juf{Gt/ 
0-10 x'g] u/L jf/Djf/tf ljt/0f tflnsf lgdf{0f ug'{xf];\ / ;fdfGo cª\sul0ftLo dWos u0fgf u/L glthfsf] JofVof ug'{xf];\ . 

(Construct a frequency distribution table from the marks obtained by class 10 students in economics subject having full 

marks of 75 with the first class interval as 0-10 and calculate the simple arithmetic mean and interpret the result.) 

 k|fKtfª\s (Obtained Marks): 5, 10, 15, 25, 55, 5, 15, 10, 25, 50, 10, 5, 15, 55, 5, 10, 35, 25, 45, 45, 10, 25, 5, 35, 30, 5, 55, 
5, 25, 55                                                                                                                                                                     [3+4+1]                                        

                                  cyjf (OR), 
lbOPsf] tYofª\af6 ;g\ 2020 nfO{ cfwf/ jif{ dfg]/ rfn' jif{ ;g \ 2023 sf nflu n]:k]o/ / kfZr] ljlw k|of]u ul/ d"No ;"rsfª\s 

u0fgf ug'{xf];\ / glthfsf cfwf/df lgisif{ lgsfNg'xf];\ . (Construct a Price Index using Laspeyre's and Paasche's method from 

the given data assuming 2020 as the base year and 2023 as the current year and draw conclusion based on the results.) 

Jf:t'sf lsl;d 

(Types of goods) 

cfwf/ jif{ (Base Year) ;g\ 2020 rfn' jif{ (Current Year) ;g\ 2023 
d"No -? k|lt s]= hL=df_ 

[Price (Rs in Kg)] 
kl/df0f - s]= hL=df_ 

[Quantity (in Kg)] 
d"No -? k|lt s]= hL=df_ 

[Price (Rs in Kg)] 
kl/df0f - s]= hL=df_ 

[Quantity (in Kg)] 
sfutL (Lemon) 30 2 40 3 
cDaf (Guava) 40 4 50 5 
;'Gtnf (Orange) 50 6 60 7 

:6«j]/L(Strawberry) 60 8 70 9 

                                                                                                                                                                     [3+3+2] 

                                                                                                                    The end 
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